8 7 6 5 4 3 2 1

INCH |88£103-0° | ITEM | QTY. | CAT P/N A‘LTDRFER P/N DESCR‘IPTIDN WEIGHT
1 1 88£105 BUSS MOUNTING BOARD 12 Lb
2 8 88F106 LOAD BUSS 35 Lb
3 8 | 370-2649 80E140 BUSS BRACKET 4 Lb
(2 (1ey (72 (29 4 8 | 381-5586 S7E303_01 | BUSS BRACKET (ADJD 4 Lb
5 1 88F107 CT MOUNTING BOARD 12 Lb
6 PLACES —— 6 16 | 55-7383 BOLT - 3/8-16 x 1-3/4" 1 Lb
7 | 32 | 8T-48%6 FLAT WASHER - 3/8 - Lb
0 ‘ ‘@ ‘ e eLaces 8 16 | 2Kk-4973 NUT 3/8-16 SELF LOCKING - Lb
o PLaCES m%\\\l‘%wﬁ %ﬂlm%ﬂ 9 30 107697 CARRIAGE BOLT - 1/4-20 x 1-1/4" 1 Lb
10 | 44 | 36-9865 NUT - 1/4-20 SELF LOCKING - Lb
n i Jllm a 11 | 50 | 8T-4205 FLAT WASHER - 1/4 - Lb
}j& iﬁ }j& ﬁ }j& ﬁﬂ 12 6 301170 CARRIAGE BOLT - 1/4-20 x 4° Lb
1 1 L 1 1 13 3 | 356-1431 TRANSFORMER — CURRENT 3000:5 - Lb
| 14 1| 372-2640 86F154_01 | NEUTRAL BONDING BAR - Lb
M I M T 15 4 88F108 LOAD BUS (SHORT) - Lb
al an I 16 3 88F109 LOAD BUS ADAPTOR 3 Lb
i 17 1 88F155 NEUTRAL BAR EXTENSION 2 Lb

.
S i I WO | | A
@ ||| & % 5% i

il
o & b

¢ © ¢

5
&
® @
il

a

u;

&

&

&
T
&

Al
@1
o
m
N,
&
&
A
K
&

= Hp—
NNEN W ALTORFER POWER SYSTEMS
LF|oE|gA ALTORFER 6315 W. FAUBER RD. PHONE (309) 697-1234
S | BARTONVILLE, IL 61607 FAX (309) 282-7546
é THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN PERMISSION
E - OF ALTORFER, INC., ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED
= ~
#% % % B § o E ALL DIMENSIONS IN INCHEs|” ILE PROJECT REFERENCE
B | 2| B |UNESS OTHERVISE SPECIFIED DF\88E APS2000 POWER MODULE
=
0 E = TOLERANCES: THIRD SCALE/SHEET SIZE DRAWN BY QUOTE NUMBER
= | 7| 8 | xx 0100 ANGLE
B w2 XXX £ 0,060| PROJECTION 1=5/B D. RICHARDSON
FRONT VIEW A XXXX * 0005 SHEET DATE WORK ORDER NUMBER
T
2|° ANGULAR * 1" @ — 10F 1 1/4/2013
5 TITLE DRAWING NUMBER
© i LOAD PAN
S LOAD BUSS GROUP 88E103-02

8 7 3 5 4 3 2 I 1




